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This question paper contains 34 questions. All questions are compulsory.
Question paper is divided into five Sections — Sections A, B, C, D and E.
Section A - questions number 1 to 21 are Multiple Choice type questions. Each
question carries 1 mark.

Section B — questions number 22 to 27 are Short Answer type questions. Each
question carries 3 marks. Write answer to each question in 60 to 80 words.

Section C - questions number 28 to 30 are Long Answer (LA) type questions.
Each question carries 8 marks. Write answer to each question in 300 to
350 words.

Section D — questions number 31 to 33 are Source-based questions having
three sub-questions. Each question carries 4 marks.

Section E - question number 34 is Map-based question that includes the
identification and location of significant test items. This question carries
5 marks. Attach the Map with the answer-book.

There is no overall choice. However, an internal choice has been provided in
Sections B, C and E of question paper. A candidate has to write answer for
only one of the alternatives in such questions.

In addition to this, Note that a separate question has been provided for
Visually Impaired candidates in lieu of questions having visual inputs, Map
etc. Such questions are to be attempted by Visually Impaired candidates only.

SECTION A
(Multiple Choice Type Questions) 21x1=21

Which of the following was the main source of initial information about
Hampi’s ruins for Colonel Colin Mackenzie ?

(A)  British documents (B) Memories of priests

(C)  Foreign travellers account (D) Epigraphic inscriptions

Which one of the following pairs is not correctly matched ?

(Sufi) (Region)
(A) Shaikh Muinuddin Sijzi — Ajmer
(B) Khwaja Qutbuddin Bakhtiyar Kaki — Delhi
(C) Shaikh Fariduddin Ganj-i Shakar — Ajodhan (Pakistan)
(D) Shaikh Nizamuddin Auliya — Agra
Page 3 of 27 P.T.O.
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Match Column I with Column II and choose the correct option.

d.

Column 1 Column I1
(Traveller) (Country)
Al-Biruni i.  Morocco
Marco Polo ii. Uzbekistan
Ibn Battuta ui. Italy
Abdur Razzaq iv. Samarqand

Options:

(A)
(B)
©)
(D)

a-i, b-ii, c-iii, d-iv
a-ii, b-iii, c-i, d-iv
a-iii, b-iv, c-i, d-ii

a-iv, b-i, c-ii, d-iii

Why is Mahabharata called a dynamic text ? Choose the most suitable

option from the following.

(A)
(B)
©)
(D)

It remains unchanged and consistent in all versions.
It has been reinterpreted across various contexts.
It focuses solely on historical facts.

It is a fixed text with no variations over time.

Fill in the blank with the appropriate word from the given options :

In Jainism, the practice of severe asceticism and non-attachment is

intended to achieve , which is liberation from the cycle of
birth and death.

(A) Ahimsa

(B) Karma

(C)  Moksha

(D) Dharma

Page 5 of 27 P.T.O.
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Which of the following statements accurately describe Harappan seals ?

I Harappan seals often feature animal motifs.

I1. Harappan seals were made of terracotta with symbols.
III. Harappan seals were known for military victories.

IV. Harappan seals were predominantly used in burials.
Options:

(A) Statements I and II are correct.

(B) Statements I and III are correct.

(C)  Statements II and III are correct.

(D)  Statements III and IV are correct.

Two statements labelled as Assertion (A) and Reason (R) are given below.

Read them carefully and select the correct option :

Assertion (A) : The Tripitaka written in Pali is one of the primary

collections of Buddhist scriptures.

Reason (R): The Tripitaka consists of three collections, which include
the Vinaya Pitaka, the Sutta Pitaka and the
Abhidhamma Pitaka.
Options:
(A)  Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).
(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.
(D) Assertion (A) is false, but Reason (R) is true.

Page 7 of 27 P.T.O.
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8. Refer to the given image of the sandstone sculpture. Which one of the
following dynasties does this sculpture of the King represent ?

(A)  Gupta (B) Maurya
(C) Kushana (D) Satavahana

Note : The following question is for Visually Impaired Candidates only, in
lieu of Q. no. 8.

How did Ashoka spread the principle of dhamma across his empire ?
Choose the correct option from the following.

(A)  Through military conquests

(B)  Through educational institutions

(C)  Through inscribed edicts on pillars and rocks
(D)  Through diplomatic alliances

9. Identify the ancient rulers of India from the given options using the

provided information.

. They belonged to important ruling lineage.

. They were the immediate successors of the Mauryas.

o They were Brahmanas.

Options:
(A) Mauryas and Guptas (B) Nandas and Cholas

(C) Satavahanas and Kushanas (D) Shungas and Kanvas

10. Which of the following statement best explains the uniformity in urban
planning across Harappa ?

(A)  Presence of Central authority (B) Management by city-states
(C)  Organisation of tribal leadership (D) System of nomadic governance

61/4/3 Page 9 of 27 P.T.O.
& #




11.

12.

13.

61/4/3

X B KX
= a1 o o e €, iR (A) 3R FRU (R) | 3o SAMYE 916y SR &t
IEETSEIRCREETI I
HFIT (A) : SIS T WA T 3T T2, STy S TEd #W  HROT HAE hH
el o ToTT 3Uh <31 AT SITQT o |

FRU(R) : AU TeTE (1861 — 65) % HIIT SFHNHT § o<l HUTH o TG H
Secie fiRrae 317, forad fsre =t derfeuer |l i qetreT et uet |

foreprea .
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11. Two statements labelled as Assertion (A) and Reason (R) are given below.

Read them carefully and select the correct option :

Assertion (A) : India was considered a suitable country for cotton
cultivation due to its soil, climate and cheap labour, by
the Britishers.

Reason (R): The American Civil War (1861 — 65) caused a significant
drop in raw cotton imports from America, leading Britain
to seek alternative sources.

Options :

(A)  Both Assertion (A) and Reason (R) are true and Reason (R) is the

correct explanation of the Assertion (A).
(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

(C)  Assertion (A) is true, but Reason (R) is false.
(D)  Assertion (A) is false, but Reason (R) is true.

12. Who amongst the following women was a member of the Constituent
Assembly from Bombay ?

(A) Kamala Nehru

(B) Hansa Mehta

(C)  Purnima Banerji

(D) Vijayalakshmi Pandit

13. Which of the following pairs of Committees and their Presidents is
correct regarding the Constituent Assembly ?

(Committees) (Presidents)
(A) Advisory Committee — Sardar Vallabhbhai Patel
(B) Flag Committee — N.G. Ranga
(C) Steering Committee — J.B. Kripalani
(D) Supreme Court Committee — Jawaharlal Nehru

61/4/3 Page 11 of 27 P.T.O.
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frrfafiad sreameT ot shictshd § SFaferd HifST i gl faerey st == Fifsre
L. Qe | fohET 3Tigie

I Tieft-stfor wogiar

III.  <WRA TR

IV.  TreTrae H Tiefistt st amr

oo

(A) IV, I, II III (B) II1,1III, IV

(C) L II,1V,I (D) L L II, IV
“Tgel AL e, Al AT FiEt At T ot - 7 di feforiaad | & o foret 2
(A)  Hered o (B)  feRE s

(C)  GwsT AT e (D) TR f4E fera

Sfore fesprel o feremt 3 v # fsifest Trsteat ifarat sht s swfer fofar 2
(A) o forg e Trstea AT 1 ST
(B)  3fIHd ST o TR W -EaTHE] ol STRIRIT T 9 HL THT

(C)  SEAHUR SCTSEd hl SAT9eh h--aIH

(D) T o R o et § TSTEa ol ST 1aU]

frfaitaa w1 o1 firam w6 11 8 hifSie 37 o) foshed o1 ==  hifsa |

Ty I &y I1
(TR 3 T7a3T) (FNTEH)
a. ™ 1. ﬁmaﬁwagr%w
b. HE ii. PRI T HT Hefer el T o1
c. I iii.  fefem s fmior
d. 3wfag v, oS ST S S TTRE TetEsT
forerea
(A)  a-iii, b, c-ii, d-iv (B)  a-ii, b-iii, c-i, d-iv
(C)  a-iv, b-iii, c-ii, d-i (D) a-i, b-ii, c-iii, d-iv
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Arrange the following events in chronological order and choose the

correct option :

L Peasant Movement in Kheda
II. Gandhi-Irwin Pact

III. Champaran Movement

IV. Noakhali Visit of Gandhiji

Options:
A IV, LI III (B) IL LIIL IV
(C) HOLIILIV,I (b)y ILILIILIV

Who amongst the following wrote the line “Khoob Ladi Mardani, Woh To
Jhansi Wali Rani Thi” ?

(A) Mahadevi Verma (B) Harivansh Rai Bachchan
(C) Subhadra Kumari Chauhan (D) Ramdhari Singh Dinkar

How did David Ricardo’s ideas influence British revenue policies in India ?
(A)  Adoption of fixed revenue demands for Ryots

(B) Taxing landowners’ surplus income based on average rent

(C)  Widespread implementation of Permanent Settlement

(D)  Rejection of revenue in favour of village development

Match the following Column I with Column II and choose the correct option.

Column I Column I
(Dynasties of Vijayanagara) (Contributions)
Sangama i.  Strengthened military
Saluva ii. Belonged to Krishnadeva Raya
c. Tuluva iii. Constructed Hiriya canal
d. Aravidu iv. Last dynasty of Vijayanagara
empire

Options :
(A)  a-iii, b-i, c-ii, d-iv (B) a-ii, b-iii, c-i, d-iv

(C)  a-iv, b-iii, c-ii, d-i (D)  a-i, b-ii, c-iii, d-iv
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Imagine reading the ‘Nalayira Divyaprabandham’ a significant text in
Tamil. Why is this collection often referred to as the Tamil Veda ?

(A) It contains laws and regulations of Tamil society.
(B) It holds religious significance equivalent to Vedas.
(C) Itis documented as a historical epic based on events.

(D) It serves as a manual for temple construction.

According to Montesquieu, how did the rulers in Asia manage their

subjects ? Choose the most appropriate option from the following.
(A) By promoting private property

(B) By ensuring economic equality

(C) By exercising absolute authority

(D) By decentralizing powers to leaders

Which of the following informations were included in the tables of the

sarkars in the Ain-i-Akbari ?

I. Grants of revenue in charity
II. Total area measured

III.  Number of forts

IV.  Biographies of officials

Options :
(A) L IIlandIV (B) I,II and III
(C) LIIandIV (D) II, IIIl and IV

Choose the correct option from the following to fill in the blank regarding
the role of leaders in the Revolt of 1857.

Nana Saheb : Kanpur; Kunwar Singh :
(A)  Gwalior (B) Meerut
(C)  Singhbhum (D) Arrah

Page 15 of 27 P.T.O.
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YT
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SECTION B

(Short-Answer Type Questions) 6x3=18

“Historians consider several elements when they analyse the
Mahabharata.” Substantiate the statement with suitable

examples.
OR

“Many communities during the Mahabharata period had different
social practices from Brahmanical ideas.” Substantiate the

statement with examples.

In what ways do the Jain teachings influence the ethical and spiritual

practices of the believers ? Explain with examples.

(a)

(b)

Imagine studying the water management system of the
Vijayanagara empire. How did the empire’s water resources

support its agriculture and urban development ? Explain.

OR

Imagine studying Vijayanagara’s trade records. What information
do they reveal about the goods traded and the empire’s economic

connections ? Explain.

Describe the teachings and philosophy of Virashaiva tradition.

Analyse the impact of the Ryotwari system on the ryots of Bombay.

Explain how the Constituent Assembly sought to resolve the language

issue.

Page 17 of 27 P.T.O.
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@uE T
(Fr-3TT TR F T9) 3x8=24

UfaeTiaes g gd /1 9rirsT ol gHeH | forg TR 9eres 8 2 39eh! forred

HTHT 3 | TR shl fHeRT AT fargersor hifsr | 4+4=8
AT
ST AT H AW 3FgaT o forfie qeegstl ot awe hifer | 8

AfTeiE Gre hl St Adtd sl g hl AT &HdT 1 forg Jenr |ifia

Tl © 2 ST Gfed Tose ifsrT | 8
arera
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IS | 8

TiefSt o T HeATR’ o TTATHeh ST shl SATEAT ShifSTT | 36 FeqWE 3 fohd
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areraT
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e ol TE HifST | 8
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SECTION C

(Long-Answer Type Questions) 3Ix8=24

How do historical sources help us to understand the Mauryan

empire ? Analyse the role of Ashoka in shaping its legacy. 4+4=8
OR
Examine the distinctive aspects of land grants in ancient India. 8

In what ways do the challenges of inscriptional evidences restrict

our ability to understand the past ? Explain with examples. 8
OR

In what ways do coins serve as valuable sources for understanding

the ancient period ? Explain with examples. 8

Explain the primary objectives of Gandhiji’s ‘Salt Satyagraha’.
How did this Satyagraha mobilize public opinion against British

rule ? Explain. 8

OR

Explain the significance of various sources in understanding

Gandhiji’s thoughts and approaches to Indian independence. 8
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eLehe)
(TTA-SATETHRE T9) 3Ix4=12
31. TeUICEN I AMYEF ITGT HR 38k i< 3T 7 Tt o I AR - 1+1+2=4

STEATHAT ! G T W I <1 € | 36 Wiy 1, TEE el W et &1 H fohg g
- SARTR ATHE 1 Sooi@ HAT TR § | I8 TUEIA AT % feom
ot o Rord € | 98 T ST TSI 316X &, S 550 SHRAT & H Hedl g1 2 |
SSUTATRRIT o ST SiaTd T HAT F o [T TEITGT H Garg | A6 Al
TS o HERINT § ST, T TTT o7 | I8 I hRl S hicist Ve JHardid],
U7 T H BR e TS Ao Srlciisi!, 8eUea 3R BTEe HShd hicisl
HEANT ¥ ToRAT T o7 | SRS o Tadw0T & T SerdT & o SSUraTe 39 & & 4
Tt o |

SSUTATRRIT shl TSR ST 10,000 $6T G4 o STl & | ESUTETeT
I TS o AT & N 3fequr TR sTrerel o1 SAfershisr fear 3ok a9t dfta
B & | TSI o LA % &Pl % |1 AR AR iehiaeh HIehi o T A
WA H ST ST 0T §HAT | SR SideTe o WA ik e giaete H fo foret
FhIEE o AT shT STH BT TR ST o fg A 0 S o g s gufa:
et g e © | 39 3 @ Fg oft var =rerar € T dredt samen A gtans %
TATHT § A T AT AR GHTST H GHIRT 27 7C 9 qerr foret sft Tt ox, i =
AT SIRTH 1 &1 S §AT 7 Wied 31T | STH-SH SSraTs! 304 3 77 TR
T IR TG T 37k S off efft-efit 37 & o St & |

SIERATSA! sh1 ST 210 5 SSUIT WX o @ARTH ol o1-SF TR T IH-HTT
fohaIT | BSWT HEHIA o Bt T W o GAHIHA =el 1 Socie1a &9 § ST h
IAHT STTETET o 980 o 919 THMAT & | 37d: 39 I ¥ 39 & § 5000 a9 hi

ST TR T Fieheh fiawar faems It & |

(31.1) TETET 1 I T ST Sl GHE H Y TS 2T @ 2 1

(31.2) SFTEH SfET0T TRAN H AR 3fdem™ & IR § gAH wwg R @ Y
RTINSt 8 ? 1

(31.3) TEIE! & T 9 ETAT (DNA) Feheq 3R 38k fsdur s s agw e 2 2
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SECTION D

(Source-Based Questions) 3x4=12

Read the given source carefully and answer the questions that

follow : 1+1+2=4

Archaeogenetic Research

As you can see, a careful re-examination of the data can sometimes
lead to a reversal of earlier interpretations. In this respect, it is necessary
to mention the recent archaeogenetic research carried out at the site of
Rakhigarhi. The site, located in Hisar district of Haryana, is the biggest
Harappan city, spread over an area of 550 Hectare. In order to study the
genetic history of the Harappans, DNA was extracted from the skeletal
remains excavated at Rakhigarhi. This research was carried out by The
Deccan College Deemed University, Pune in collaboration with Centre for
Cellular and Molecular Biology, Hyderabad and The Harvard Medical
College. The analysis of the data indicates that the Harappans are the
indigenous people of this region.

The genetic roots of the Harappans go back to 10,000 BCE. The
DNA of the Harappans has continued till today and a majority of the
South Asian population appears to be their descendants. Due to trade
and cultural contacts of the Harappans with distant regions there is a
mixture of genes in small quantity. The continuity without any break in
genetic history as well as cultural history rules out large scale
immigration of the so-called Aryans. This research also indicates that the
people coming from bordering areas and distant regions were absorbed in
the Indian society. At no stage, the genetic history of the Indians was
either discontinued or broken. As the Harappans started moving towards
Iran and Central Asia, their genes also gradually spread in these regions.

The same team of researchers reconstructed 3D features of the
Harappan people. The reconstructed facial features of the Harappans,
male and female, show remarkable similarity with the modern
population of Haryana. Thus, this study has indicated unbroken
continuity for 5000 years in this region.

61/4/3
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(31.1) How does the research at Rakhigarhi contribute to understanding

of ancient civilizations ? 1

(31.2) How does the research redefine our understanding of genetic
history in South Asia ? 1

(31.3) What is the significance of extracting and analyzing DNA from the
remains at Rakhigarhi ? 2
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faq T i st erEe ufey SR ghes i e T ST % S i 1+1+2=4

foreTrer ugwr ATt e W
TR o forvar | o7e-foret o7 foraan 2 -
afe 31T 39 TS (Ghd T WiEd ) F IR IET =TRd €, a7 T8 A T am
TR ST AT ol TE &, Ieai q oo, ST o & 36 T 3h1 95 agd foeqa
2 | 308 T & T % fore ohé Sres, T ST SeaT ST, T B € 3 O 2 weq B
STANT % SRt o fore gt &, o wieft erm wme o forg fafie fomeer wohaudt
T ¥ e GHL ¥ STCRT fohaT ST ST 2 |

33.

(82.1) IA-forel T Eeahad T AU AT HEHT o AT 6k ATTF ST hl hel
T8 ?

(32.2) HEHA 3R STl o off=l I THE GHIAT bl Aot 7 IS foarm 2

(32.3) TCI-TereT 3 €Eahd ol Teh THG, WTST T STl ?

1
1
2

faq TQ & T e ufey ST g i< Q1T St % I Y 1+1+2=4

HieTelt TEageet e

Hietell AgHgeeT WTE 1857 o forsle H 3Ted yfHeht (19 et siga Wi Hiettdi § &
TS I | 2eUEs § frfera wime it v 3w O & SuQTeh s T o | 1856 H 3¢ IS
faes SeTe 1 J=R i AR A 1 f[8E % g Gam id ge ie-nia s o
T T | I Ueh UTeTeh! H SI3eht Ietd 9 | UTeteh! o STAT-SAT @it TR 1 3ok gmefeh
B I | SEIAT I AT ST IME g o o | Forfest 1oher 38 oI & o o fop
HeE! % T ER @ 9 | ¥ 3R a5 9N THAHM 3 PR 7 T 8 3R
qugd o foh 9 SEAT o STTERI ¥ AU & | S 1856 H o w1 g al qierd |
3¢ TET H IUQYT o T Tk foaam | 1857 § 38 Thereirg Sict H sig R faam | fegr 2
T 3¢ 2241 Afea 36t o FaRifea = STt a1 97 foram | 3 fomreTe o foreama g
4 T fora foram 2 Sl 6t STETS aTef! S ZhiSAl i He shi @Ml uel | Hiewsl!
TS ol el STRTGH ST Thd o o ST STl o | 9§ Wi &1 Ad o foh St
IS el B Hehdl; 3ok UTH SIS YTkl & ST SUST IFehT e Wit STk el T Tehd |
! B doh ST forgam® o SHROT 32 AT | ST STRIhR ITH o |
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(33.1) Hietelt SrgHgeaT ITTE Shl “SohT TTE° AT ShgT SITAT T 2
(33.2) Hictelt STEHT ITE o6 Sed T T fsifeer AferenTit st = gfcrfsham off 2

(33.3) HicTdl STeHgeel WTE o 1 o ge doh Wi | ferfewr e o foreg o =t
T & ?
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Read the given source carefully and answer the questions that

follow : 1+1+2=4

A language with an enormous range

Al-Biruni described Sanskrit as follows:

If you want to conquer this difficulty (i.e. to learn Sanskrit), you will not
find it easy, because the language is of an enormous range, both in words
and inflections, something like the Arabic, calling one and the same thing
by various names, both original and derivative, and using one and the
same word for a variety of subjects, which, in order to be properly
understood, must be distinguished from each other by various qualifying
epithets.

33.

(32.1) How did Al-Biruni’s description of Sanskrit reflect his
engagement with Indian culture ?

(32.2) What key similarity between Sanskrit and Arabic did Al-Biruni
highlight ?

(32.3) Why did Al-Biruni consider Sanskrit a rich language ?

Read the given source carefully and answer the questions that

follow : 1+1+2=4

Maulvi Ahmadullah Shah

Maulvi Ahmadullah Shah was one of the many maulvis who played an
important part in the revolt of 1857. Educated in Hyderabad, he became
a preacher when young. In 1856, he was seen moving from village to
village preaching jehad (religious war) against the British and urging
people to rebel. He moved in a palanquin, with drumbeaters in front and
followers at the rear. He was therefore popularly called Danka Shah — the
maulvi with the drum (danka). British officials panicked as thousands
began following the maulvi and many Muslims began seeing him as an
inspired prophet. When he reached Lucknow in 1856, he was stopped by
the police from preaching in the city. Subsequently, in 1857, he was jailed
in Faizabad. When released, he was elected by the mutinous 22" Native
Infantry as their leader. He fought in the famous Battle of Chinhat in
which the British forces under Henry Lawrence were defeated. He came
to be known for his courage and power. Many people in fact believed that
he was invincible, had magical powers, and could not be killed by the
British. It was this belief that partly formed the basis of his authority.
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(33.1) Why was Maulvi Ahmadullah Shah called ‘Danka Shah’ ?

(33.2) How did British officials react to Maulvi Ahmadullah Shah’s
growing influence ?

(33.3) To what extent did Maulvi Ahmadullah Shah’s action reflect the
resistance against British rule in India ?

2
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LG Lcacd
(WA TerT-SATETE ST9T) 3+2=5
34. (34.1) WA & fou U TSR @ AHes (T8 27 W) H, HEfdiad ® 3w
gt & sifera FifSTe oK 37k 7 fafae 3x1=3
i = -

(i) TSI — FSTIT JTrEre
(iii) (F) A — S ok TefiT &
AT

(i) @) TR - foeeR TS Y TeteTE

(34.2) WRA o 3H THIfder WW@T-AFT W 1857 o 9518 o a6 sheal ol ‘A’ 3
B ferd foraT TRIT B | 390! TR=ITHAY 3R 3 Hel A1 3 Hene Ti=f T
Taret T forfa | 2

ie : ARG 94 Shecl greaTiad aiterfofal & Uy, €. 34 FH T W e

(34.1) 2f&T0r YRA o Tl ST TN st Tl T 3ot ShifsTT | 2
(34.2) (F) T GTHTSH o e forelt weh &1 a1 4 foafia | 1
JrraT
(34.2) (@) TR AT i Tta 1 Am fafaw | 1
(34.3) 1857 o forsiie o fehwel &1 9@ el o I feiflaT | 2
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SECTION E
(Map-Based Questions) 3+2=5

34. (34.1) On the given political outline map of India (on page 27), locate
and label the following with appropriate symbols : 3x1=3

(i) Sanchi — A Stupa

(ii) Kalibanga — Harappan site

(iii) (a) Panipat — Territory under the control of British
OR

(iii) (b) Vijayanagara — Capital of Vijaynagara empire

(34.2) On the same political outline map of India, two places have been
marked as ‘A’ and ‘B’, as the centres of the Revolt of 1857.
Identify them and write their correct names on the lines drawn
near them. 2

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 34 :

(34.1) Mention any two ancient Buddhist sites in Deccan India. 2
(34.2) (a) Name any one territory under the Mughal empire. 1
OR
(34.2) (b) Name the capital of the Vijayanagara empire. 1
(34.3) Name any two main centres of the Revolt of 1857. 2
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T H. 34 & fow For question no. 34

cmim Fer A ST @T-HA T (TATfaeh)
-\ ' N A Outline Map of India (Political)
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